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CHi () + 30x(g) — 2C0,(g) + 2H,0(g)

-

4. Find the somber of significant figures i

(i) 62.4 (i) 8.8674

the following numbers

3. Which of the following species will have the largest and the
Mg, Mg*™* | Al AP '

4 KCID}MW 0eComposes to = K
0.1 mole of KCIOs 2 ( K=399%

- Write the main difference between VSEPR theory and < ale

Although carbon oxygen bond is polar yet CO; mg ecule xw.n;
- What is photoelectric effect? On what factors does it deg - |
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Write the general electronic configuration of lanthanoids and aetinoids. B g e
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Q10. When would wavelength associated with an electron become equal to the wavelength associated with a
proton? (mass of € =9.1095 X 10* g and mass of proton = 1.6725 X 10%g) 2
Q11. (a) Define isobars. Give one example.

(a) The atomic number of an element is 5 and mass number is 11. Find the number of electrons , protons and

neutrons present in an atom of it .How can this element be represented ? 3

Q12. Write a brief not on the following environmental terms :
(a)Global warming
(b) Greenhouse effect
(c)Ozone hole. 3
013. Chlorine is prepared in the laboratory by treating manganese dioxide (MnOz) with agueous
Hydrochloric acid according to the reaction

4HCI (aq) + MnOs(aq) —— 2H0() + Ch(g) - MnCl,y

How many grams of HCI react with 5.0 g of manganese dioxide? 3
)14, (a) Define hydrogen bond.
(b) Is hydrogen bond Stronger or weaker than the vanderwaal's forces?

(c)What is the significance of hydrogen bond in our lives? ) 3

Q15. (a) What is an isotherm ?

(b) 10 dm” of hydrogen under | bar pressure are contained in a cylinder which has a movable piston . The
siston is moved in until the same mass of gas occupies 2 dm’ at the same temperature. Find the pressure in the
cylinder.

OR

(a) In terms of Charle’s law explain why -2?3% is the lowest temperature.
il S ¢
(b) Calculate the total pressure in a mixture of 8g of oxygen and 4g of hydrogen , confined in a
vessel of 1 dm” at 27°C R = 0.083 bar dm’ K mol™ . 3

Q16. (a) Write the relationship between azimuthal quantum number (£) and principal quantum no. (n)



(b) Write the electronic configuration of Fe* . (Atomic number of Fe = 26)
(¢ )What is the net effect of screening effect ?

Q17. Give a brief account of the following :
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SR the first orbit . Find out the fequency
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the spectra '_‘:.‘;"—:;'L-; = 3 : ‘i ?1' 3

Q19. (a) Write the name of an element with five electrons in the outermost shell.
(b) Write the name of an element that would tend to lose two electrons.
(¢) Name the block which contain metals, non metals, liquid as well as gas at the room temperature. 3
Q20. The density of 3 M solution of NaCl is 1.25 g/ml. Calculate molality of the s oluti
Na=23,Cl=355) |

o

Q22. Write the limitations of Octet Rule or Octet Theory .

Q23. Taj mahal is regarded as the eight wonder of the world. N

visit this great historic monument every year but over th

(b) How is damage actuslly cansed?
(c)Suggest some ways to check the pollution.

(024.(a) From the following sets of quantum numbers , state which is possible. ;

Hn=0,=0, m=0,s=+1/12
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(b) What is meant by the term maximum multiplicity &
(¢) Write the four quantum numbers for 21 electron of

Q25.(a) state Hess’s law.

(b) Give a brief note on the fnﬂquin_g-&mmi_gmmic terms :
(i) Standard enthalpy of combustion. _ l
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(2) Write the electronic configuration of N, molecule (At. No. of N=7)

(b) Predict its magnetic nature



